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LT T FIEIRASHE - L8 &R BT ? (273=pow(2,3)=8)
for(x = -10; x <= 10; x++)

{
y = pow(x,3) + 6 * pow(x,2) -x - 6;
ify=0
cout << " " <<x;
| .
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(A) kB2 o4 4 4 % ) 1t(Object Oriented Web)
(B)#h &2 & web 1L(Web-based system)
(C) 8% # 2 7 {(Utility Computing Web)
(D) #-8# o4 47 2 4b(Semantic Web)
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(A) & 77 & 1§ (name-your-own-price) (B)# L # 4% (direct marketing)
(C)Ht 23 47 4% (affiliate marketing) (D)i# 1 4 & (reverse auction)
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8. FsliiemAds A G R sEBanraku’ A > E 5 D (Pay-as-you-go)
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(A)E 3% € B (Cloud Computing) (B)4 % % 54,2/ (ERP)
(Cyit JE 42 % 1B (SCM) (D)4E % B 4% % 32 (CRM)
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11.F 7% B § & F #4148 3 1 (Data independence) 3 38 » 474 & E5 7
A)EHB AR LEAS
(B) =& # & 22 #(Three schema architecture) & 3% & 4448 3 44
(CHRE MR b > 2 XK THE B RAEHE A
(D)FA 38 T M08 S0 T3R5 B R B 89 8 4 20 % #LE F9 42 X (Application) & M
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(A) —18 Table £ # — x4t B) Z4EARTUEEME
C) —FHEABMK O) ~FHRAAEZESH

14.F 747 % SQL Server #5 4~ £2 % /& B % 4X £ 2 Theta join 3 #5542 35 7
{A) Inner join (B) Cross join (C) Full outer join (D) Partial outer join

I5.ERBERBRET 1 RET T4 7
(A)Select  (B)Join  (C)Project (D) Divide

16. FH B+ 35 42 (R A — SR T A AL 2 AT - AT 74 ?
(A)normalization (B)index method (C)pointer (D)hashing

172 A~B~C~D-E & — Table =B » LiiadTF
A+B—>C ; A+B—-D ; A—-E-> BASBR TR ara4t?
(A) & — E 8.4k (B) & —EHAL ()% = EHAL (D)% w ik Rk
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19.F sl & R R A B E FR(DBA)S T/EIHB 7
(A)RE 3L 5% S # C BEESERHELY

(C)$47T DBMS #7345 (D) R BT R

20.F# M o FFlT4 354 A X418 Table P3¢ Ae — @ ?
(A) Insert . (B) Insert into (C) Alter (D) Modify structure

21347 T 5 E#ta84 R+ & checkA, checkB & F %47 ?

(A)0,4 (B)4,0 (C)0,0 D44
int checkA = 0,checkB = 0;
int[] comanswer = new int[4];
string Str = nuli;
Str="1234";
checkA = 0;
checkB = (;
comanswer[0] = 4; comanswer[1] = 3; comanswer[2] = 2; comanswer[3] = 1;

for (inti=0; i <=3; i*++)

{
for (int j = 0; j <= 3; j++)
{ .
if (comanswer[i] == Convert. ToInt32(Str.Substring(j, 1)) )
{
if (i ==3)
{
checkA +=1;
)
else
{
checkB +=1;
}
3
}
}
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22.% A 31 # $ 7| (Fibonacci) 45 & M fado T © -

F1:1,F2=l‘
Fn+2 =F‘n—f—1 +-Fn,

# Figo=a » Flo1=b » B Fog B4 ?
(A ba B)ath  (C)2a-b - (D)a-2b

3 HAT T R ESAAE - L AB3IEREMT?
(A)13 .(B)25 (63 (D)108
int I,J;
intf,] A =new int[4, 4]; .
for (I = 0; I <= 3; I+

{
AlL 0] =1;
Af0,I]=1;

}

for(I=1;1<=3;T+)

{
for(J=1;J<=3; J+H)
{

ALT=Al-1,T-1]+A[l- 1L, Jj+A[LT-1};

}

b

24 BATF P ESBE - L AGDER AT ?
(A)4 B®6 ©8 D10
int A(int a,int b)
{
if (a==0)
return b+2;
else return A(a-1,b+2);
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~int J, Sum;
. Sum=0;
for J=1;J<=4;J++)
{
ifJ%2=1)
{
Sum=Sum+7J*2;
)
else
{
Sum = Sum + J;
}
}
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(A)DHCP  (B)POP  (C)HTTP  (D)FTP

27.F FUTAHBMT w&ﬂ@w;@ (WLAN) BABRABEE - XTHLEELS
BhEME -
(A) Access Point (B)SSID  (C) Switch (D)IP %% 8

28.7F 7 ARAAFE 2 T A SRR MR IE SRR 7
(A) ping (B)ipconfig  (C)arp (D) netstat

2042 X EAEE A ERAMBEES LT HEEAS AL B E BWRT UNAT
BHEEPREALN c THAEBLEEPMBIEELIITT
(AYPHP (B)ASPNet (C)ISP (D) JavaScript

30. A IP B FERE H3 0 AR A EBARRE - R ERAETH T ERLE
HiEL T IPAddress | ?
(A)HTTP (B)NAT  (C)DHCP  (D)DNS
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33.

34.

35.

What.is the (average case) cost fo get to an arbitrary position in a list of n elements
for the: (A) Array-based list implementation? (B) Linked List implementation?
(A) A:O(n) B:O(n) (B) A:0(1),B:0(1)
(C) A:0(1),B:0(n) ' (D) A:0(n),B:0(1)

Suppose a binary tree starts from level 1.

(AYWhat is the maximum height of a binary tree with 16 elements?
(B)What is the minimum height of a binary tree with 16 elements?
(A) A:16,B:4 (B) A:15,B:5

(C) A:15,B4 (D) A:16,B:5

Suppose a binary tree starts from level 1. Draw the binary search tree that would
result from inserting the following keys in the given order: 5, 30, 15, 12, 20, 45, 70.
What is the height of this tree?

(A)3 (B) 4 (C) 5 (D) 6

Which of the following is a FILO(First-In-Last-Out) structure?
(A) Array (B) Link List (C) Stack (D) Queue

How many spanning trees does the following graph have?
(A) 3 (B) 4 (C) 5 (D) 6
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36. Which of the following wireless standards provides the highest speed?

37.

38.

39.

40.

(A) 802.11a (B) 802.11b (C) 802.11g (D) 802.11n

Assume you have an networks address of 192.168.1.0 and its netmask is 255.255.255.0.

How many addresses(hosts) can we assign on this subnet?
(A) 512 (B) 256 (C) 128 (D) 254

Which of the following address is an example of a broadcast address on the network
192.168.1.2 with a 'subnet mask of 255.255.255.1287

(A) 192.168.1.255 ' (B) 192.168.1.127

(C) 192.168.1.63 (D) 192.168.1.31

Which of the following address is an example of a subnet address(network
address) on the network 192.168.1.2 with a subnet mask of 255.255.255.1287

(A) 192.168.1.255 (B) 192.168.1.0

(C) 192.168.1.128 (D) 192.168.1.64

Let (50)s + (3B)15 = (X )10, the value of X is L7 .
(A) 99 (B) 100 (C) 109 (D) 139
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